Draw a hexagon and label the Three children play

properties.

How many faces, edges and
vertices does a cube have?
Describe a square based
pyramid to a friend.

Can they guess the shape?

Zak is saving money to travel
to Australia. He saves £245
a month for 6 months. How
much has he saved?

MR TODD BUYS
17 DRINKS AT 48P
AND 12 DRINKS
AT 52P EACH.
WHAT [§ THE
COST OF THE 29
DRINKS?

tiddlywinks.

What was each child’s
score?

Yasmin 258 + 103
Anne 177 + 92

Steven 304 + 121

Write the common
multiples (answers)
of the 2,3 and 4
multiplication
tables up to 40.

I think of a number
and divide it by 7. The
answer 1s 20.

What was my number?

WHAT NUMBERS
GO INTO 24
EXACTLY?

Shayla earns
£2475 per
month. How much
does she earn
in 14 months?

Cara buys sweets for
everybody in her class to
celebrate the start of the
holidays. She buys 17 packets
containing 45 sweets. She
also buys 16 packets
containing 145 sweets. How
many sweets does she have
altogether?

Elsa takes a train to
London. Each frain
carriage can carry 86
passengers. The train
has 14 carriages.
What is the total
number of passengers
that the train can
carry?

If Sadia eats 5
pieces of fruit a
day, how many
pieces of fruit does
she eat over 234
days?

A shop sells scooters
for £154. If the
nursery school buys
23 scooters how
much do they cost

them in total?



